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3. %54?>6<4=O=, <?< 46GE>E=O= EGEF46
�>76>?O5F 45?4FL >7D4=<G5==O5 46<65=<O 6 46GE =4?D46?5=<OE ?>4 ?DO-
<O< G7?>< >4=> > 4DG7><G, >4> 5>?LL>= ?4?5F ><EF<.

4. �?>>>6<4=O= EGEF46
�>7<>6=O5 E7<54F5?L=>-D477<54F5?L=O5 46<65=<O F>?L>> 6 >4=>= ??>E>>-
EF< 4  >4> 6 >>?5=5, ?>>F5 <?< ?4?LF5.

5. &<?<=4D<G5E><= EGEF46
�4=4 >>EFL 46<65FEO 6>>DG7 4DG7>= ?> E6>5= >E< 4  F4><5 >4> ?GG564O 
< ?>>F564O >>EF<.

�>=<<4=<5 4=4F><<G5E>>= F5D<<=>?>7<<
�E?< 6O =5 7=45F5 ?4FO=<, F> ?4F<=E><5 =4764=<O >>EF5= < <OLF <>7GF ?>>4-
74FLEO 64< E?>6=O<< 4?O ?>=<<4=<O < 4465 ?G74NM<<<. �4=4>> ?>E?5 F>7>, 
>4> 6O 74?><=<F5, GF>, =4?D<<5D, extensor 4 MF> <OLF4, GG4EF6GNM4O 6 ?D>-
F5EE5 D477<54=<O, brevis ?>-?4FO=< «>>D>F><=», 4 pollicis 4 «>F=>EOM<=EO 
> 5>?LL><G ?4?LFG», F> D4E?>?>65=<5, <5EF> ?D<>D5??5=<O < DG=>F<O <OL-
FO extensor pollicis brevis EF4=GF >G44 5>?55 ?>=OF=O.

�465 DGEE><5 4=4F><<G5E><5 F5D<<=O, E>>D55 6E57>, <765EF=O =5 6E5<, >F> 
E>G5F D<E>64FL G5?>65G5E>>5 F5?>. �> MF>= ?D<G<=5 44?55 5G4GF >5NOE=5=O 
7?46=O5 F5E=<G5E><5 F5D<<=O >=<7<, >4> DGEE><5, F4> < ?4F<=E><5.

deep  7?G5>><= (44?5><= 
>F ?>65DE=>EF< F5?4)

superficial  ?>65DE=>EF=O= (5?<7><= 
> ?>65DE=>EF< F5?4)

inferior =<6=<=
superior 65DE=<=
anterior ?5D54=<=
posterior 744=<=
lateral ?4F5D4?L=O= 5>>>6>=

medial <54<4?L=O= E5D54<==O=
distal  4<EF4?L=O=, 44?5><= 

>F <5EF4 ?D<>D5??5=<O 
<OLFO

proximal  ?D>>E<<4?L=O=, 
5?<64=L<= > <5EFG 
?D<>D5??5=<O <OLFO

prone ?D>=4F<O ?44>=LN 6=<7
supine  EG?<=4F<O ?44>=LN 665DE

1. 3. 5.2. 4.
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radial  D44<4?L=O=, >F=>EOM<=EO 

> DG>5 E> EF>D>=O 
5>?LL>7> ?4?LF4

ulnar  G?L=4D=O=, >F=>EOM<=EO 
> DG>5 E> EF>D>=O <<7<=F4

fibular  D<5G?OD=O=, >F=>EOM<=EO 
> =>75 E> EF>D>=O <<7<=F4

tibial  F<5<4?L=O=, >F=>EOM<=EO 
> =>75 E> EF>D>=O 
5>?LL>7> ?4?LF4

alveolar  4?L65>?OD=O=, 
>F=>EOM<=EO > 45E=4< 
< 7G54<

costal  >>EF4?L=O=, >F=>EOM<=EO 
> D55D4<

dorsal  4>DE4?L=O= E?<==>=, 
65DE=<=

frontal  ?>5=O=, >F=>EOM<=EO 
>> ?5G

hypothenar  7<?>F5=4D=O=, >F=>EOM<=EO 
>> 6F>D><G 6>76OL5=<N 
?44>=<, D4E?>?>65==><G 
G <<7<=F4

lumbar  ?>OE=<G=O=, >F=>EOM<=EO 
> ?>OE=<F5 

mental  ?>45>D>4>G=O=, 
>F=>EOM<=EO > ?>45>D>4>G

nuchal  «747D<6>G=O=», >F=>EOM<=EO 
> 744=5= G4EF< L5<

occipital  74FO?>G=O=, >F=>EOM<=EO 
> 744=5= G4EF< 7>?>6O

orbital  7?47=>=, >F=>EOM<=EO 
> >5?4EF< 6>>DG7 7?47

palatine  =55=O=, >F=>EOM<=EO 
> 65DE=5= G4EF< DF4

palmar  ?44>==O=, >F=>EOM<=EO 
> ?44>=<

plantar  ?>4>L65==O=, >F=>EOM<=EO 
> ?>4>L65 

supraorbital  =447?47=<G=O= >F=>EOM<=EO 
> >5?4EF< =44 7?474<<

temporal  6<E>G=O=, >F=>EOM<=EO 
> 6<E>G

thenar  F5=4D=O=, 
>F=>EOM<=EO > ?5D6><G 
6>76OL5=<N ?44>=<, 
D4E?>?>65==><G 
G 5>?LL>7> ?4?LF4

thoracic  7DG4=>=,>F=>EOM<=EO 
> 7DG4<

calcaneum ?OF>G=4O >>EFL
carpus 74?OEFL5
clavicle >?NG<F4
coccyx  >>?G<> 4 G5FOD5 ED>EL<EEO 

?>76>=>4 =<65 >D5EFF4
condyle  <OM5?>> 4 6OEFG? =4 >>=-

F5 >>EF<
costae D55D4
epicondyle  =44<OM5?>> 4 6OEFG? =4 

<OM5?>5 <?< =44 =<<
femur 554D5==4O >>EFL
fibula <4?>55DF>64O >>EFL
humerus ??5G564O >>EFL
ilium  ?>4674>L=4O 4 >4=4 <7 

>>EF5= F474 4  >>EFL
ischium  E544?<M=4O 4 >4=4 <7 >>-

EF5= F474 4  >>EFL
malleolus  M<>>?>F>4 4 >>EF=O= 

=4D>EF 6 6<45 <>?>F>G>4, 
=4?D<<5D =4 ?>4O6>5

mandible =<6=OO G5?NEFL
maxilla 65DE=OO G5?NEFL
metacarpus ?OEFL 4 >>EF< ?44>=<
metatarsus  ??NE=4 4 >>EF< 65DE=5= G4E-

F< EFG?=<, >D><5 ?4?LF56 =>7
olecranon ?>>F56>= >FD>EF>>

patella >>?5==4O G4L5G>4
phalanges  D4?4=7< 4 >>EF< ?4?LF56 

DG> < =>7
process  >FD>EF>> 4 6OEFG?4NM4O 

G4EFL >>EF< (F4>65 >FD>EF>>) 
pubis  ?>5>>64O >>EFL (G4EFL F47>-

6>= >>EF<) 
radius  ?GG564O >>EFL 4 >4=4 <7 

>>EF5= DG><
sacrum  >D5EF5F 4 ?OFL ED>EL<EEO 

?>76>=>>6 6 =<6=5= G4EF< 
?>76>=>G=<>4

scapula ?>?4F>4
sternum 7DG4<=4
tarsus  ?D54??NE=4 4 >>EF< ?>-

4O6><, ?>4N5<4 < ?OF><
tibia 5>?LL555DF>64O >>EFL
ulna ?>>F564O >>EFL
vertebra  ?>76>=>> 4 >4=4 <7 >>EF5= 

?>76>=>G=<>4
zygoma E>G?>64O >>EFL

<=>7<5 >>EF< =47O64NFEO ?> E6>5= D>D-
<5: 7>D>E>6<4=O5 (6 D>D<5 7>D>L<=O), 
>?<=>6<4=O5 (6 D>D<5 >?<=4), 
?44L56<4=O5 (6 D>D<5 ?44L<) < F. 4.  

�>EF<
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�4> >?<E4=> =4 EFD. 10311, >E=>6=O5 46<65=<O EGEF46>6 4 MF> E7<54=<5 ?>4 
5>?55 >EFDO< G7?><, D477<54=<5 (6O?DO<?5=<5), 454G>F<O (>F6545=<5 >F 
ED54=5= ?<=<< F5?4) < 444G>F<O (?D<6545=<5 > ED54=5= ?<=<<). �OLFO, 
GG4EF6GNM<5 6 MF<E 46<65=<OE, =47O64NFEO E7<54F5?O<< (flexor), D477<54F5-
?O<<, <?< M>EF5=7>D4<< (extensor), >F6>4OM<<< <OLF4<<, <?< 454G>F>D4<< 
(abductor) < ?D<6>4OM<<< <OLF4<<, <?< 444G>F>D4<< (adductor). �D><5 F>7>, 
5EFL 6D4M4NM<5 <OLFO (rotator).

%D54< 4DG7<E <OLF, =4764==OE ?> E6><< DG=>F<O<, 4 ?>4=<<4NM<5 
<OLFO (levator), >?GE>4NM<5 <OLFO, <?< 45?D5EE>DO (depressor), =4?DO74N-
M<5 <OLFO (tensor) < D4EL<DONM<5 <OLFO (dilator). �4>>=5F, E<>DM<64N-
M4O <OLF4 (corrugator) ?><>745F =4< <>DM<FL ?>5.

�OLFO 5O64NF D47?<G=OE D47<5D>6; <E >F=>E<F5?L=O5 D47<5DO G4EF> 
>5>7=4G4NF ?4F<=E><<< ?D<?474F5?L=O<<:

longus 4?<==O=
brevis >>D>F><=
magnus 5>?LL>=
major 5>?LL<=
maximus =4<5>?LL<=
medius ED54=<=
minor <4?O=
minimus =4<<5=LL<=

D4E?>?>65=<5 F>65 >5>7=4G4NF ?4F<=E><<< F5D<<=4<<:
interossei <56>>EF=O=
lateralis 5>>>6>=, =4?D46?5==O= 65>>
medialis ED54=<=, =4?D46?5==O= > E5D54<=5
orbicularis  >>?LF56>=, D4E?>?>65==O= 6>>DG7 

>F65DEF<O
profundus 7?G5>><=
anterior, posterior, inferior < superior >7=4G4NF E>>F65F-
EF65==> ?5D54=<=, 744=<=, =<6=<= < 65DE=<=

abdominis 5DNL=>=
anguli oris >F=>EOM<=EO > G7?G DF4
auricularis GL=>=
brachii DGG=>= (F4>65 brachialis) 
capitis 7>?>6=>=
carpi ><EF56>=
cervicis L5==O=
digiti  >F=>EOM<=EO > ?4?LFG DG>< 

<?< =>7<
digiti minimi  <<7<=F56O= (=4 DG>5 <?< 

=>75) 
digitorum  >F=>EOM<=EO > ?4?LF4< DG> 

<?< =>7
dorsi E?<==>=
fasciae  >F=>EOM<=EO > D4EF<O< 

(E<. =<65) 
femoris 554D5==O=
frontalis ?>5=O=
hallucis  >F=>EOM<=EO > 5>?LL><G 

?4?LFG =>7<
indicis  >F=>EOM<=EO > G>474F5?L=>-

<G ?4?LFG

labii 7G5=>=
lumborum ?>OE=<G=O=
mentalis ?>45>D>4>G=O=
naris =>74D56>=
nasalis =>E>6>= (F4>65 nasi) 
nuchae 747D<6>G=O=
oculi 7?47=>=
oris D>F>6>=
palmaris ?44>==O=
patellae  >F=>EOM<=EO > >>?5==>= 

G4L5G>5
plantae ?>4>L65==O=
pectoralis 7DG4=>=
pollicis  >F=>EOM<=EO > 5>?LL><G 

?4?LFG
radialis ?GG56>=
scapulae >F=>EOM<=EO > ?>?4F>5
thoracis 7DG4=>=
tibialis  >F=>EOM<=EO > 55DF>6>= 

>>EF<
ulnaris ?>>F56>=

�DG7<5 ?4F<=E><5 ?D<?474F5?L=O5

�DG7<5 G4EF< F5?4

fascia  ?<EF E>54<=<F5?L=>= F>4=< 
(<=. G. fasciae)

fossa O<>4, 6?44<=4 (<=. G. fossae)



14 '5?>65> 6 ?>?=O= D>EF

� MF>< D4745?5 <O D4EE<>FD<< F5?> 
F5?<>><, <7GG<< EFD>5=<5 E>5?5F4 
< >E=>6=OE <OLF, 4 74F5< G45?<< 
6=<<4=<5 ?D>?>DF<O< < D47=<F5 
<564G <G6E><< < 65=E><< F5?4<<.

�>EF=O= E>5?5F >G5=L =4?><<=4-
5F 6=GFD5==<5 ?5E4, 6>>DG7 >>F>DOE 
EFD>OFEO 5>?55 <O7><5 G4EF< F5?4. 
$47G<55FEO, ??>FL < >>EFL =5D47-
45?<<O, ?>E>>?L>G 65EL >D74=<7< 
D476<645FEO 6 GFD>55 >4=>6D5<5=-
=>, => E>5?5F >55E?5G<645F 65EF><= 
>4D>4E, 44NM<= >?>DG 6E5= <4EE5 
<OLF < 6=GFD5==<E >D74=>6. �>EF-
=4O EFDG>FGD4 =>6>D>645==>7> =5 
E?>E>5=4 ?>445D6<64FL F5?>, ?>F><G 
GF> <OLFO =54>EF4F>G=> D476<FO, => 
?> <5D5 67D>E?5=<O G5?>65> >5D5F4-
5F >4=>6D5<5==> <GE>G?L=GN E<?G 
< ?>=<<4=<5, >4> G?D46?OFL E6><<< 
46<65=<O<<.

%G4>6=<> 4>?65= 7=4FL, >4><5 G4EF< 
E>5?5F4 6<4=O =4 ?>65DE=>EF< F5?4, 
?>E>>?L>G ?D< D<E>64=<< MF> ?><>-
745F E6O74FL =5?>46<6=O5 F>G>< F5?4 
E 6=5L=<< 6<4>< 57> =4<5>?55 <O-
E<EFOE G4EF5=. �=4=<5 EFD>5=<O E>5-
?5F4 4  7?46=>5, GF> =5>5E>4<<> 4?O 
?D46<?L=>7> <7>5D465=<O G5?>65G5-
E>>= D<7GDO.

�>744 6O D<EG5F5 G5?>65G5E>>5 F5?>, 
6O =5 <>65F5 6<45FL, 745 <<5==> =4-
G<=4NFEO < >>=G4NFEO <OLFO. �4-
=4>> 5E?< 6O >E654><?5=O >5 <E 
EFDG>FGD5, F> E<>65F5 5>?55 F>G=> 
>?D545?<FL >E=>6=GN D>D<G ?N5>= 
<OLFO =4 64L5< D<EG=>5.
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%F><F =5<=>7> 5>?LL5 G7=4FL > >DG?-
=OE ?>65DE=>EF=OE <OLF4E, ?>F><G GF> 
F>744, G?><<=4O <E 6 =4FGD=>< >?4EE5, 
6O E<>65F5 ?>OE=<FL, =44 >4>>= G4EFLN 
F5?4 E>5<D45F5EL D45>F4FL. �E?< G 64E 
E>D>L<= ?D5?>4464F5?L, >= 5G45F 7=4FL 
=4764=<O 5>?LL<=EF64 >DG?=OE <OLF.

�E?< 6O E>5<D45F5EL D<E>64FL D<7GDG 
G5?>65>4 E =4FGDO, =G6=> <<5FL 6 6<4G, 
GF> <OLFO D47=OE ?N45= D476<FO =5-
>4<=4>>6>. %?>DFE<5= 5G45F >5?444FL 
F4><< EFD>5=<5< <OLF, >>F>D>5 7>D47-
4> ?57G5 G6<45FL =4 ?>65DE=>EF<, G5< 
F>F, >F> 6545F <4?>?>46<6=O= >5D47 
6<7=<. �5=M<=O 6 F5?>< <<5NF 5>?55 
F>?EFO= E?>= 6<D>6>= F>4=<, G5< <G6-
G<=O, < <=>744 <OLFO, >>F>DO5 6<4=O 
G <G6G<=O, G 65=M<=O <5=55 6OD4-
65=O < 5>?55 E?45O. '5?>65> ?N5>7> 
?>?4 <>65F <<5FL 5>?55 ?>?=>5 F5-
?>E?>65=<5, F4> GF> 64< 5G45F FDG4=55 
D477?O45FL, >4> <OLFO =4>?44O64NFEO 
>4=4 =4 4DG7GN.

%>FO <O 6E5744 6<4<< G5?>65G5E>>5 
F5?> E=4DG6<, 7=4=<O > F><, GF> =4E>-
4<FEO ?>4 >>65=, ?><>7GF E>744FL 5>-
?55 4>EF>65D=O5 < G554<F5?L=O5 <7>-
5D465=<O. 


